MIAMI-DADE COUNTY, FLORIDA
METRO-DADE FLAGLER BUILDING

BUILDING CODE COMPLIANCE OFFICE
METRO-DADE FLAGLER BUILDING

140 WEST FLAGLER STREET, SUITE 1603
MIAMI, FLORIDA 33130-1563

PRODUCT CONTROL NOTICE OF ACCEPTANCE (305) 375-2901 FAX (305) 375-2908
M.Q. Windows, Inc. CONTRACTOR LICENSING SECTION
1855 Griffin Road, Suite A-274 (303) 375-2527 FAX (305) 3752558
Dania ,FL. 33004 CONTRACTOR ENFORCEMENT DIVISION

(305) 3752966 FAX (305) 375-2908
PRODUCT CONTROL DIVISION
(305) 375-2902 FAX (305) 372-6339
Your application for Notice of Acceptance (NOA) of:
JS Series Fixed/Shaped Mahogany Windows -Large Missile Impact
under Chapter 8 of the Code of Miami-Dade County governing the use of Alternate Materials and Types of
Construction, and completely described herein, has been recommended for acceptance by the Miami-Dade
County Building Code Compliance Office (BCCO) under the conditions specified herein.

This NOA shall not be valid after the expiration date stated below. BCCO reserves the right to secure this
product or material at any time from a jobsite or manufacturer's plant for quality control testing. If this
product or material fails to perform in the approved manner, BCCO may revoke, modify, or suspend the
use of such product or material immediately. BCCO reserves the right to revoke this approval, if it is
determined by BCCO that this product or material fails to meet the requirements of the South Florida
Building Code.

The expense of such testing will be incurred by the manufacturer. ﬂ/ %_ég

ACCEPTANCE NO.: 99-1228.03
EXPIRES: 03/01/2006 Raul Rodriguez
Chief Product Control Division

THIS IS THE COVERSHEET, SEE ADDITIONAL PAGES FOR SPECIFIC AND GENERAL
CONDITIONS
BUILDING CODE & PRODUCT REVIEW COMMITTEE

This application for Product Approval has been reviewed by the BCCO and approved by the Building
Code and Product Review Committee to be used in Miami-Dade County, Florida under the conditions set

forth above. I
Francisco J. Quintana, R.A.
Director
Miami-Dade County
APPROVED:_03/01/2001 Building Code Compliance Office

15045000 1 \pc2000\\templates\notice acceptance cover page.dot

Internet mail address: postmaster@buildingcodeonline.com @ Homepage: http://www.buildingcodeonline.com



M Q Windows Inc. ACCEPTANCE No.: 99-0228.03

APPROVED : March 01, 2001

EXPIRES : March 01, 2006

NOTICE OF ACCEPTANCE: SPECIFIC CONDITIONS

SCOPE

This approves a wood fixed window as described in Section 2 of this Notice of Acceptance,
designed to comply with the South Florida Building Code, (SFBC), 1994 Edition for Miami-Dade
County, for the locations where the pressure requirements, as determined by SFBC Chapter 23, do
not exceed the Design Pressure Rating values indicated in the approved drawings.

PRODUCT DESCRIPTION

The “JS” Series Mahogany Wood Fixed \ Shaped Windows-Large Missile Impact Resistant
and its components shall be constructed in strict compliance with the following document: Drawing
No. MQJS-NOA2, titled “JS Serie Wood Fixed Window”, sheets 1 through 150f 15 prepared by
manufacturer, dated 01/10/99 revised on 07-11-00 and 02-02-2001, signed and sealed by Walter A.
Tillit Jr., P.E. , bearing the Miami-Dade County Product Control approval stamp with the Notice of
Acceptance number and approval date by the Miami-Dade County Product Control Division. These
documents shall hereinafter be referred to as the approved drawings.

LIMITATIONS
This approval applies to single unit applications, as shown on approved drawings.

INSTALLATION

The mahogany wood fixed window and its components shall be installed in strict compliance with
the approved drawings.

The installation of this unit will not require a hurricane protection system.

LABELING
Each unit shall bear a permanent label with the manufacturer's name or logo, city, state and
following statement: "Miami-Dade County Product Control Approved".

BUILDING PERMIT REQUIREMENTS
Application for building permit shall be accompanied by two copies of the following:
6.1.1 This Notice of Acceptance.
6.1.2 Duplicate copies of the approved drawings, as identified in section 2 of this Notice of
Acceptance, clearly marked to show the components selected for the proposed installation.
6.1.3 Any other documents required by the Building Official or the South Florida Building Code
(SFBC) in order to properly evaluate the installation of this system.

\olaq |. Llauda
Ishaq L. Chanda, P.E., Product Control Examiner
Product Control Division




M O Windows Inc. ACCEPTANCE No.: 99-0228.03

APPROVED : March 01, 2001
EXPIRES : March 01, 2006

NOTICE OF ACCEPTANCE: STANDARD CONDITIONS

1. Renewal of this Acceptance (approval) shall be considered after a renewal application has been filed
and the original submitted documentation, including test supporting data, engineering documents,
are no older than eight (8) years.

2. Any and all approved products shall be permanently labeled with the manufacturer's name, city,
state, and the following statement: "Miami-Dade County Product Control Approved", or as
specifically stated in the specific conditions of this Acceptance.

3. Renewals of Acceptance will not be considered if*

a)  There has been a change in the South Florida Building Code affecting the evaluation of this
product and the product is not in compliance with the code changes;

b)  The product is no longer the same product (identical) as the one originally approved.

c)  Ifthe Acceptance holder has not complied with all the requirements of this acceptance,
including the correct installation of the product;

d) The engineer who originally prepared, signed and sealed the required documentation initially
submitted, is no longer practicing the engineering profession.

4. Any revision or change in the materials, use, and/or manufacture of the product or process shall
automatically be cause for termination of this Acceptance, unless prior written approval has been
requested (through the filing of a revision application with appropriate fee) and granted by this
office.

v

Any of the following shall also be grounds for removal of this Acceptance:

a)  Unsatisfactory performance of this product or process;

b)  Misuse of this Acceptance as an endorsement of any product, for sales, advertising or any
other purpose.

6.  The Notice of Acceptance number preceded by the words Dade County, Florida, and followed by
the expiration date may be displayed in advertising literature. If any portion of the Notice of
Acceptance is displayed, then it shall be done in its entirety.

~

A copy of this Acceptance as well as approved drawings and other documents, where it applies,
shall be provided to the user by the manufacturer or its distributors and shall be available for
inspection at the job site at all times. The engineer does not need to reseal the copies.

8. Failure to comply with any section of this Acceptance shall be cause for termination and removal of
Acceptance.

9. This Acceptance contains pages 1, 2, this last page 3.
\ S ke \ . L L(.4 VLALT
Ishaq I.Chanda, P.E. Product Control Examiner
Product Control Division
END OF THIS ACCEPTANCE
3




M Q Windows Inc. ACCEPTANCE No.: 99-0228.03

APPROVED

EXPIRES

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

A. DRAWING:
L. Manufacturer's parts and sections drawings.
2. Drawing No. Drawing No. MQJS-NOA2, titled “JS Serie Wood Fixed Window”, sheets 1 through
150f 15 prepared by manufacturer, dated 01/10/99 revised on 07-11-00 and 02-02-2001, signed and
sealed by Walter A. Tillit Jr., P.E..

B. TESTS:

1. Test Report No. HTL-0118-1006-98 (Sp#4 PA201/203), HT1-0118-1103-98 ((Sp#1 &
Sp#2(PA202)) and (Sp#5,PA201,202,203), HTL -0118-1298-98(Sp#6, # 7(PA201/203)) , HTL-
0118-1218-98 (Sp#6 (PA201/203))prepared by Hurricane Testing Laboratories, dated 10/15//98
thru 07-06-99, signed and sealed by Timothy S. Marshall, P.E., for the following tests:

1)  Air Infiltration Test, per PA 202-94
2)  Uniform Static Air Pressure Test, Loading per PA 202-94
3)  Water Resistance Test, per PA 202-94. (approved for HJ430 sill only, all other sills not
approved for water infiltration)
4)  Large Missile Impact test, per SFBC and PA201-94
5)  Cyclic loading test, per SFBC and PA203-94
6)  Forced Entry Test, per SFBC 3603.2 (b) and PA 202-94
along with manufacturer's parts and section drawings marked by Hurricane Testing Laboratory Inc.

C. CALCULATIONS
1. Anchor verification calculations prepared by Tilteco Inc., dated November 04, 1999, revised on 01-

29-01, signed and sealed by Walter A. Tillit, Jr. , P.E.

D. MATERIAL CERTIFICATIONS
1. Notice of Acceptance No. 98-0120.06, issued to Solutia Inc., for “Saflex ITIIG Polyvinyl Butryal
Interlayer-For laminated Glass™, expiring 05-21-01.

E. STATEMENTS

1. Stateman letter of conformance, dated 11-24-1999, signed and sealed by Walter A. Tillit Jr., P. E.

2. Statement letter of no financial interest, dated January 08, 2001, signed and sealed by Walter A.
Tillit Jr., P. E.

3. Statement letter of compliance dated March 1, 1999, issued by Hurricane Testing laboratory,

signed and sealed by Timothy S. Marshall, P.E.
4, Addendum letter dated 04-27-00 for HTL-0118-1103-98 (Sp#1) and 0118-1006-98(Sp#2),
prepared by Hurricane Testing Laboratories, signed and sealed by Vinu Abraham, P.E.

E. OTHER
l. Test proposal 98-0073 dated August3, 1998, revised on October 14,1998, reviewed and approved
by BCCO.
2. Various correspondence, faxes, meetings and telephone calls from MQ Windows between October,

2000 and February 2001, related to approval units and calculations.
3. ASTM-1300-98 (Design pressure extapolation of annealed glass, per appendix X-3 based on
probability of lit 8/1000 breakage), criteria set by BCCO.

|shaq | . Lhanda
Ishaq I. Chanda, P.E., Product Control Examiner
Product Control Division

E-1



Short member & Frame width (FW) 3/8" shim

maximum long member

Long member & Frame height (FH) —t

I,_l_k____A_L___g____L-fJ -
/ 7 51/2
7 max r max.
348" 1 L 1"
snim
/A space
I I max.
d.i.o. J,___+
A- See TABLE 1 for the I mox.

11"

fspoce max

TABLE 2

GLASS TYPES FOR FRAME DIMENSIONS OF TABLE 1
OR FOR BASIC RECTANGLES GIVEN ON SHEETS 2,
3, 4 AND 5 OF THIS DRAWING
If, for a given long member d.i.0., the actual short
member daylight opening exceeds the maximum
dimension indicated on table 2, then
TYPE 2 heat strenghtened laminated glass
[3/16" HS - .090" PVB - 3/16" HS]

OR TYPE 3 full tempered laminated glass

[3/16" FT - .090" PVB - 3/16" FT}

MUST BE USED

TABLE 1

MAXIMUM SHORT & LONG
FRAME DIMENSIONS
FOR RECTANGULAR UNITS

o
8
5|
E’ dimension for a given short Maximum daylight opening for type 1 laminated glass
£ member dimension; _ - - [3/16" AN - .090" PVB - 3/16" HS]
“E" B- SEE TABLE 2 to check o max
g I | || the day light openings 3 I " Given Long !Max. short Given Long | Max. short
< (d.i.0.) and find the right member d.l.o. | member member.d.l.o. member
| | gless type to use. -4 wpto(in) |dlo.(n) [[ upto(in) | dlo. (in)
@ | | M 47114 47.244 90 112 28.150
_1'_ % \ +_ 1 51 41.339 84 172 27953
| X max. 55 38.388 98 172 27,559
I fixed sash I 1
- — " 59 36.220 102 1/4 27.362
L_J-w ———— | —/ 63 34.055 106 1/4 26.969
- 71 max. _l_ max L max J_L 51 /2 66 32.480 1014 | 28172
max 70 3/4 31.498 114 26.575
348"/ 74 304 30.512 118 26.378
s;ogz 78 3/4 29.528 122 26.220
8212 28.937 126 26.102
86 1/2 28.543 130 25.984
Long member & Frame width (FW) ————  3/8” shim
——— e e ) ) | |/ SPace mox
max ! 7 ‘ 51/2
3/-8 T max r max.
sphlm 3/8" 1 L 1
space shim
ST , space 4 ! o
“ b [1] 8 1 1 »
o, Es ‘“ A- See TABLE 1 for the maximum long member |
£S5 & dimension for a given short member dimension: l
2o x2 | B- See TABLE 2 to check the day light openings | mox.
Ec =) (d.l.o.) and find the right giass type to use. o° "
o o e ﬁ‘# "’__+
o E d.l.o.
£ o .
g ® i
max ~=} 11 4 ~
3/8" R ) 4 \\ Jr— max.
shnm'\L fixed sash ' 1"
space — \ l -”5—?/2,.
' =1
o T o T T 7
5 1/2" ] max. 1 max. l max. J mox : max J_rr;?z( 5 1/2

11"

11" ’ 11--

RECTANGULAR FIXED UNITS
CONFIGURATIONS: O

Information on this page applies to cross
sections 1 & 20 (sash “inward" ) and to
cross section 4 (sash "outward™ ) ONLY

GIVEN FRAME MAX. FRAME
SHORT MEMBER| LONG MEMBER| viEweD FROM THE OQUTSIDE
dimension (in.) | dimension (in.) WOOD: Mahogany
o - max s DESIGN PRESSURE
35 - 40.00 139.000
Positive Pressure: +58 psf
34 - 4148 134.000 Negative Pressure -68 psf
33 -43.10 129.000 NOTE: Refe(rj to table 1 for
. minimum and maximum sizes
32 -44.04 124.000 width (FW) & height (FH)
31 -44.56 118.000 NOTE:  This unit will not need
31 -44.58 119.000 a hurricane protective system.
0 -45.17 114.000 INSTALLATION DETAIL:
29.68.45.375 112.375 2 x PT WOOD BUCK
0 -4538 112.374 ®head & jombs, DETAIL
0 -46.00 108.167 NO 1 & 4; and @sSill,
DETAIL NO 20 & 4:
-47.00 102.447
0 -4 ——_ Installation Bracket
0 -48.00 97.783 " PDF-FS-05/D.
Screwed to the buck frame
0 -48.00 53,821 using 1x #12 x 1 1/2" all
0 -50.00 80.703 threaded (0.T.) wood
0 -51.00 87.983 screws. Min. embedment is
1 1/4”. Screwed to the
0 -49.00 83.827 wmdow frame using 2x #10
0 -50.00 90.703 x 1" a.T. wood screws. Min.
ti 4"
0 -51.00 87983 embedment is 3/
0 -52.00 85.672 INSTALLATION DETAIL:
0 -53.00 83.695 1 x PT WOOD SHIM
B @head & jombs, DETAIL
0 -5400 81.997 NO 1 & 4; and @il
0 -55.00 80.533 DETAIL NO 20 & 4:
0 -56.00 79.267 — gilgt':alll:ag_%n&%mcket
0 -60.00 75.650 Screwed to the m.asonry
0 -64.00 73.719 using 1/4” x 2 1/2"
Tapcon screws. Min.
0 -68.00 12747 embedment is 1 1/4",
0 -70.00 72.528 Screwed to the door frame
using 2x #10 x 1” a.T.
0 -72.00 12440 wood screws. Min.
0 -72438 72.438 embedment is 3/4".

Spacing: All fasteners spacing is
5 1/2" from corners and
maximum 11" on center (o/c).

Shim Space: 3/8" MAX. @
head, jambs & sill. Use std
wood shims behind as required.

1855 GRIFFIN ROAD,
SUITE A-274
DANIA, FL 33004

JS SERIES
WOOD FIXED WINDOWS

MIAMI DADE COUNTY

Drawing no.: MQJS—NOA?2
Scale: Drawn by:
1=20 S. Marcotte
Date drawn: Date revisea:
01/10/99 07 /11 /00
File: Page:
DJS—F9801 1 /15
STRUCTURALLY REVIEWED BY:

TILLIT TEZ "% & ENGINEERING COMPANY
659 s 1" REENSTE. 217
MIAMS, FLORIDA 33168
‘WALTER A.TRUT JR, PE.
STRUCTURAL ENGINEER

FL. LIC.NO. 44167
m

A A
Va4

APPROVED AS COMPLYING WITH THE

SOUTH FLOR!DA BUILDING CODE
pate MARCH o) , 200\

ey__lehasg |. th nds
PRODUCT CONTROL DIVISION
BUILDING CODE COMPLIANCE OFFICE
ACCEPTANCENO. “19-12.28.0%




RECTANGULAR FIXED UNITS
CONFIGURATIONS: O

MAX. FW & FH AS INDICATED
information on this page applies to cross
sections 1 & 21 (sash “inward" ) and to
cross sections 4 & 23 (sash "outward" )

SUITE A~274

9

1855 GRIFFIN ROAD.
DANIA, FL 33004

ALUMINUM THRESHOLD ONLY
VIEWED FROM THE OUTSIDE

WOOD: Mahogany

DESIGN PRESSURE

Positive Pressure: +58 psf
Negative Pressure -68 psf

maximum frame width (FW)
and height (FH) as indicated

This unit will not need
a hurricane protective system.

JS SERIES
WOOD FIXED WINDOWS

MIAMI DADE COUNTY

Drawing no.: MQJUS—NOQA?2

TYPE OF GLASS: SINGLE, 15/32" LAMINATED

Scale: Drawn by:
1=20 S. Marcotte
Date drawn: Date revised:
01/10/99 07/11 /00
File: Page:
DJS—-F9802 2 /15

3/16°(AN)-0.090" Saflex Il G interlayer-3/16"(HS)

3/16°(HS)-0.090" Saflex Il G interlayer-3/16"(HS)
3/16"(FT)-0.090" Saflex lli G interlayer-3/16"(FT)

OPTIONAL: FIXED ASTRAGAL

OPTIONAL: SASH BAR

WP: 1 3/4" RAISED WOOD PANEL

MAX. D.LO. AREA: 7.81 sqf

Spacing: All installation fasteners spacing is 5 1/2"

[ §
TILLIT TESTING & ENGINEERING COMPANY

0635 W MSTREET STE. 217
AW, FLORIOA 33166

'WALTER A. TILLIT JR., P.E.
STRUCTURAL ENGINEER

. FL LIC.NO. 44167
e cm =0
Vil

Shim Space: 3/8" MAX. @ head, jambs & sill. Use std
wood shims behind as required. Use 4 x brackets at

INSTALLATION DETAIL:
1x PT WOOD SHIM

Tx #12 x 2" wood screws.
Min. embedment is 1 1/4".

@head & jambs, DETAIL
NO 1 or 4

—_lnstallation Bracket
PDF-FS-05/D.

Screwed to the masonry
using 1x 1/4" x 2 1/2"
Tapcon screw. Min.
embedment is 1 1/4",
Screwed to the window
frame using 2x #10 x 1"
a.T. wood screws. Min.
embedment is 3/4".

@Sill, DETAIL NO 21 & 23
>—PDirectly screwed through
the aluminum profile to the
masonry using 1/4” x

2 1/2" Tapcon screws. Min.

max. FW 42" 3/8" shi max. FW 42" max. FW 42"
(short member) snim (short member) (short member)
I space max
E DT S A - .- | .Y, ! .~ | Vo) ! .
: 3 5 1/2 51/2" 51/2"
max NN max. N max. X max.
N 3/8"/1 R | o/c 11" \\\ 1 o/c 11" N 1 o/c 11"
shim —+ — _,..__+ — _,.__+
l ace l max. max. 4 max.
o/c N o/c 11" o/c 11"
1 [ i B ——t -—+
max. 2 ) max. @ : max. = 3
J L_o/c 1" E 1 2 o/c 1" E 1Y4) 2 o/c 11" E
' l max. . o max. o max. o
S _oi_c;ﬂ g b.LoO o/c 11" < D.LO o/c 11" £
» Y A = — max. D.L.O. e = max. D.L.O. -— =
OO B L b P E o bwge R
. o/c 11" ] 11" ® o/c 11" @ NOTE:
sre]ooie X .L_ — o —d| | fixed 8a - ,?/c > =4 | fixed (8b | — / ; - E
£ max. sash max. — sash max.
Buck ]{ ' O—/C+H" - o/c 11" = o/c 11" =
_frame I | _max. D.L.O. J— max. - WP: —r;\tx. L ‘\\\ max. = |For sizes shown on table 2, sheet 14:
mtirior 33 7/16 I o/c 11" ¥ W°°d| o/c 11" % o/c 11" X |TYPE 1, MADE OF;
ace —+ £ — pane ‘ . g — ‘ - 2
I ] , max. 2 max. 3; max. For sizes over those on tabie 2:
fixed o/c 11 21 o o/c 11 © o/c 11 TYPE 2, MADE OF:
\ﬁ sos\h 23 [ o N 23 - mox B 23 [ mox OR TYPE 3, MADE OF:
3>"}(;3)'f | \\ l 0/—cr”” o/c 11" o/c 11" ' '
— ~ = » —_ g g &t on
shim U . A 5_1/2____4 P 7 ; 51/2 . : 51/2
space
.| max. max. [max.{ max. max. |max.| max.
) — 117 51/2" 11" 11" 51/2" M1 117y
51/2"4 o/c o/c ofc o/¢ ofc ofc o/c o/c ofc from comers and maximum 11* on center (o/c).
F idth (FW ax.
;usmg /Z'.. or (6 4 ) 374,.)( fixed I each end of an astragal meeting.
4x PDF-FS-05/D sash 5, WP:
e 3t T Ty
J J J Il J ) o X
e - N <o | [Lsosr .
X = . N gp) M oar g!hoe?d & fmbs, DETAIL
o= fixed h . max. or
£ A fixed X " LN — Installation Bracket
—>_|| fjmox. dlo. | sas X (L i PDF-FS-05/D.
T o 31 1/16 For fixed unit mox : Screwed to the buck frame
~© o. o5 t§r7é"§/fn”'F34“P b using 1x #12 x 1 1/2" all
25 BX or 80 3/4" FH | threaded (a.T.) wood
o p) For fixed units up max fixed ( \ screws. Min. embedment is
oy x _ xed uni Sash _ 1 1/4”, Screwed to the
ik_, g'\ 26427 gr) gs 13//4‘_1- m “‘ll sash  par \ 0,=© \ window frame using 2x #10
- ” «
N ‘ F x 1" a.T. wood screws. Min.
58 ] \\\ n'11‘c|1’>‘< i'\ embedment is 3/4".
A | 2t N 8b 2m @Sill, DETAIL NO 21 & 23
. . , S Z2 AN > Directly screwed
| ) i\f'\ ) ) | through the aluminum
" imox. !mox. max. | maox. | max, mox.i " profile to the buck using
5 1/2 ‘1" 11)' 11" 11., l—11”‘l'11ll 5 1/2

embedment is 1 1/4".

APPROVED AS COMPLYING WITH THE
SOUTH FLORIDA BUILDING CODE
DATE M Atcd D\, L00)
ev_\cbeg |. Cuauda
PRODUCT CONTROL DIVISION
BUILDING CODE COMPLIANGE OFFICE
ACCEPTANCEND,_ A9~ 122802




Frame height (FH)
(short member)

— — d.l.o. f—
124 M
Frame width (FW)

(long member)

—_—e

~3
T
§
~ E
L
o
25
£S5 — (20) ~—
2% « 1"
£ AX
& 4 N
51/2
L v
) 11" _i_ 11" ) 11!. )
— — 5 1
51/2 *—MAX MAX_L_MAX—* 51/2
Frame width (FW)
' (short or long member) —
R=varies—\ P~ 17"
_ [ Max
AE X ;K 77
T E
Lo \
- N
L
oo ;
25
@5
5 ¢
LL-g \\g
\0-11-1

5 1/2

d.l.o.

I? ,,? " "
L—“—l——”—L—H—J

MAX MAX MAX
Frame width (FW)

(short or long member)

TO DETERMINE THE
MAX. FW AND FH;
SHAPES ON THIS PAGE MUST
BE INSCRIBED INTO ANY ONE
OF THE FOLLOWING BASIC
RECTANGLES

42" (FW) x 111 3/8" (FH)
111 3/8" (FW) x 42" (FH)
72 7/16" (FW) x 72 7/16" (FH)

76 3/4" (FW) x 58 1/2" (FH)

MAX FW &
FH = 72 7/16"

~—

dl.o. —

\f11" MAX7
REFER TO 5 1/2> 51/2
CIRCLE~. 7~ __ \>,/‘
DIMENSIONS

d.l.o. —

QUATREFOIL
SHAPE

TYPE OF GLASS:
SINGLE, 15/32" LAMINATED

The rectangular glass d.l.o. circumscribing
the shaped unit must be taken and
checked into table 2, sheet 14/15

For sizes shown on table 2, sheet 14:
TYPE 1, MADE OF: 3/16" (AN) - 0.080"
Saflex |ll G* interiayer-/16"(HS)

For sizes over those on table 2:

TYPE 2, MADE OF: 3/16"(HS) - 0.090"
Saftex [l G* interlayer-3/16"(HS)

OR

TYPE 3, MADE OF: 3/16" (FT) - 0.090"
Saftex lll G* interlayer-3/16"(FT)

WP: 1 3/4" RAISED WOOD PANEL

MAX. D.L.O. AREA: 7.81 sqf

ARCHED FIXED SHAPES

CONFIGURATIONS: O

FOR MAX. FW & FH SEE BASIC
RECTANGLES NOTE
Information on this page applies to cross
sections 1 & 20 (sash "inward" ) and to
cross section 4 (sash "outward" ) ONLY
VIEWED FROM THE OUTSIDE
WOOD: Mahogany

DESIGN PRESSURE

Positive Pressure: +58 psf
Negative Pressure —68 psf

NOTE: Refer to basic rectan—

les for minjmum and maximu

Jizes width (FW) & heignt (A1) |
NOTE: This unit will not need
a hurricane protective system.

INSTALLATION DETAIL.:
2x PT WOOD BUCK

Ghead & jambs, DETAIL
NC 1 & 4; and @Sill,
DETAIL NO 20 & 4:
——_ Installation Bracket
PDF-FS-05/D.
Screwed to the buck frame
using 1x #12 x 1 1/2" all
threaded (a.T.) wood
screws. Min. embedment is
1 1/4". Screwed to the
window frame using 2x #10
x 1" a.T. wood screws. Min.
embedment is 3/4".

INSTALLATION DETAIL:
1x PT WOOD SHIM

Ghead & jombs, DETAIL
NO 1 & 4; and @Sill,
DETAIL NO 20 & 4:

——_ Instailation Bracket
PDF-FS-05/D.
Screwed to the masonry
using 1/4" x 2 1/2"
Tapcon screws. Min.
embedment is 1 1/4".
Screwed to the door frame
using 2x #0 x 1° a.T.
wood screws. Min.
embedment is 3/4".

Spacing: All fasteners spacing
is 5 1/2" from corners and
maximum 11" on center (o/c).

Shim Space: 3/8" MAX. @
head, jambs & sill. Use std
wood shims behind as required.

1855 GRIFFIN ROAD,

SUITE A-274
DANIA, FL 33004
OF EUROPE AND
THE AMERICAS
JS SERIES

WOOD FIXED WINDOWS

MIAMI DADE COUNTY

Drawing no.: MQJUS—NQA?

Scale: Drawn by:
1=20 S. Marcotte
Date drawn: Date revised:
01/10/99 07/11/00
File: Page:
DJS—-F9804 4 /15

STRUCTURALLY REVIEWED BY:

TILIT TESTING & ENGINEERING COMPANY
6595 NW 36*STREET STE. 217
MIAMI, FLORIDA 33166

WALTER A. TILLIT JR., P.E.
STRUCTURAL ENGINEER
\_ FL.LIC.NO.44167 4

'

APPRUVED AS COMPLYING WITH THE
SOUTH FLORIDA BUILDING CODE
DATE anct o\ 2e0)

EY Lag \. t_uansa
SRODUCT CONTROL DIVISION
BUILDING CODE COMPUANCE ou;l:fctiia
ACQEPTANCENO,_ A% = 122,




Frame width (FW)
(short or Iong member)

-1

Frame height (FH)
(short or long member)

—

Frame height (FH)
(short or long member)

Fp

51/2

d.l.o.
20
4
/o
/ 11" ‘) 11" _f
MAX MAX MAX

Frame width (FW)
(short or long member)

Frame height (FH)
(short member)

TO DETERMINE THE
MAX. FW AND FH:
SHAPES ON THIS PAGE MUST
BE INSCRIBED INTO ANY ONE
OF THE FOLLOWING BASIC
RECTANGLES

42" (FW) x 111 3/8" (FH)
111 38" (FW) x 42° (FH)
72 7/16" (FW) x 72 7/16" (FH)

76 3/4" (FW) x 58 172" (FH)

&

(long member)

Z/v S

-5 1/2

TYPE OF GLASS:
SINGLE, 15/32" LAMINATED

The rectangular glass d.l.o. circumscribing
the shaped unit must be taken and checked
into table 2, sheet 14/15

For sizes shown on table 2, sheet 14:
TYPE 1, MADE OF: 3/16" (AN) - 0.090"
Saflex lil G* interlayer-/16"(HS)

For sizes over those on table 2:

TYPE 2, MADE OF: 3/18°(HS) - 0.090"
Saflex |Il G* interlayer-3/1 6°(HS)

OR

TYPE 3, MADE OF: 3/16" (FT) - 0.090"
Saflex lll G* interlayer-3/16"(FT)

WP: 1 3/4" RAISED WOOD PANEL

MAX. D.L.O. AREA: 7.81 sqf

OVAL FIXED SHAPES
CONFIGURATIONS: O

FOR MAX. FW & FH SEE BASIC

RECTANGLES NOTE

Information on this page applies to cross
sactions 1 & 20 (sash “inward” ) and to
cross section 4 (sash "outward" ) ONLY

VIEWED FROM THE OUTSIDE

WOOD: Mahogany

9

1855 GRIFFIN ROAD,
SUITE A~274
DANIA, FL 33004

®

JS SERIES
WOOD FIXED WINDOWS

MIAMI DADE COUNTY

2 x PT WOOD BUCK

Ghead & jambs, DETAIL
NO 1 & 4; and @5il,
DETAIL NO 20 & 4:
Installation Bracket
PDF-FS-05/D.
Screwed to the buck frame
using 1x #12 x 1 1/2" all
threaded (a.T.) wood
screws. Min, embedment is
1 1/4". Screwed to the
wmdow frame using 2x #10
x 1" a.T. wood screws. Min.
embedment is 3/4”,

DESIGN PRESSURE

Positive Pressure: +58 psf Drawing no.: MQUS—NOA2
Negative Pressure -68 psf Scale: Drawn by:
NOTE: Refer to basic rectan— 1=20 S. Marcotte
gles for minimum and maximum -
sizes width (FW) & height (FH) Dot; /irgwgrg Dote revised:
NOTE:  This unit will not need e / po(;)e?/11/00
a hurricane protective system. DJS—F9805 5 /1 5

INSTALLATION DETAIL: STRUCTURALLY REVIEWED BY:

/[ Tidecom \

TILLIT TESTING & ENGINEERING COMPANY
6595 NW J6™STREET,STE. 217
MIAMI, FLORIDA 33168

'WALTER A. TILLIT JR., P.E.
STRUCTURAL ENGINEER
. FL.LIC.NO. 44167

M,\DB

oz

INSTALLATION DETAIL:
1 x PT WOOD SHIM

®head & jambs, DETAIL
NO 1 & 4; and @Sil,
DETAIL NO 20 & 4:
Installation Bracket
PDF-FS-05/D.

Screwed to the masonry
using 1/4" x 2 1/2"
Tapcon screws. Min.
embedment is 1 1/4",
Screwed to the door frame

using 2x #10 x 1" a.T.
wood screws. Min.

embedment is 3/4”"

Spacing: All fasteners spacing is
§ 1/2" from comers and
maximum 11" on center (o/c).

Shim Space: 3/8" MAX. @
head, Jambs & sill. Use std

wood shims behind as required.

APPROVED AS COMPLYING WiTti 1 HE
SOUTH FLORIDA BUILDING CODE
DATE_ M ALl o) 2oo)

gy \Suasy |- (Layda

PRODUCT CONTRGL DIVISION
BUILDING CODE COMPLIANCE OFFICE

ACCEPTANCE NO.

qq-1228:02




FOR WINDOWS UP TO
84 3/4" FW OR 69 1/4" FH

Rl

@AMB, sash inward
26 FIXED ASTRAGAL (1x & INSTALLATION BRACKET) MAX 3/8"
sash —inward / ggk’&
" —2 1/8"(MIN) 2 3/8" '
31/8 (MIN)—__T ) . #0 x 3" F.H. wood
L 7/16T’2 1/87(MIN) screws @4” from , 1"x P.T.
@\F— corners & 168" moax. o/c. ™~ '/HJ430 [ [ WOOD SHIM
EXT. A , Min. embedment is 1 1/4" EXT. .
1 /4 § ' Use wood
2 2 " shims behind
" as required
et S gt | ~ 1 Jis-==ary §
] % M RouissteddHieains
N
|~ ~
3 3
HJ411 7 ﬁ/ HJ401 HJ401
, l 3——3%@ \ #10 x 3" F.H. wood
5/8" 3/16"— (_ screws @4" from ) 5/8"  3/16"
corners & 16" max. o/c.
"(MIN) ——3 1/8"(MI ; . . _ " _ ")
2 9/16% )5 5 /" /8" (MIN) Min. embedment is 1 1/4 3 1/8MN)———4 41 3/16 Installation bracket PDF—FS—05,/D
41/2 screwed to the masonry using
(MIN) (MIN) 1/4” x 2 1/2” Tapcon screws.
DAYLIGHT OPENING Min. embedment is 1 1/4".
OVERALL WIDTH & FRAME WIDTH — I Screwed to the door frame
using 2x #10 x 1" wood screws.
Min. embedment is 3/4".
FOR WINDOWS UP TO
76 34*FW OR 80 3/4* FH " horizontal horizontal
FIXED ASTRAGAL #10 x 3" F.H. wood or vertical or vertical |
. screws ©4” from SASH BAR SASH BAR JAMB, sash —inward
sash inward " -
corners & 16° max. o/c. (Optional) w/ wood panel (2x & INSTALLATION BRACKET) I
Min. embedment is 1 1/4 (Optional) .
3 1/8"(MIN) 2" x P.T.
2 1/8"(MIN) 3" (MIN.) 3" (MIN.) WOOD BUCK m\
WOOD PANEL — 2
EXT. l ‘I EXT. EXT. SHOWN (optional) HJ430 vgg
HJ408 8973
T o
}_—@ h tqn,g -
- ’v ’ ] '5) 3
| — 0 T E= ;

1

5/8" 3/16" APPROVED AS COMPLYING Wit H g
" ” wood screw at each end. ) 20°-30 SOUTH FLORIDA BUILDING
—2 9/16"(MIN) 3 1/8"(MIN) Min. embedment is 1 1/2" Installation bracket PDF—-FS—.05/D DATE _A{AACH a\,z_oot‘:ODE
5 5/8" screwed to the buck frame using 1x ! BY__lSLaa T.¢ L 4
(MIN) #12 x 1 1/2" all threaded (a.T.) v PRODUCT ——
wood screw. Min. embedment is 11/2 X CONTROL DIvisION
1 1/4". Screwed to the door frame MAX 3/8" BU'LD'NGCODEéOMPUANCEOFFICE
using 2x #10 x 1" (a.T.) wood SHIMS / ACCEPTANCENO,_ 9~ 1228 .02
" R . NUMBERS ARE REFERRING TO THE screws. Min. bed tis 3/4". '
NOTE: T— Clear "Spectrem 2" silicone sealant at shown interfaces @ASSEMBLY LISTS ON PAGES 10 TO 15 n. embedment is 3/ SPACE

T
i

L

1855 GRIFFIN ROAD,
SUITE A-274
DANIA, FL 33004

9

®

JS SERIES
WOOD FIXED WINDOWS

MIAMI DADE COUNTY

Drawing no.: MQJS—=NOA?2

Scale: Drawn by:
1=2 S. Marcotte
Date drawn: Date revised:
01/10/99 07/11/00
File: Page:
DJS—-FQ806 © /15
STRUCTURALLY REVIEWED BY:

TILLIT TESTING & ENGINEERING COMPANY
6595 NW 36™STREET,STE. 217
MIAMI, FLORIDA 33166

'WALTER A. TILLIT JR., P.E.
STRUCTURAL ENGINEER
\__ FL.LIC.NO. 44167

AT




poom ('1'D) .| x Oif xg busn

g 0§ i
Se3 ) N Slool = - Rm
G = <|. 9|23 = ol 3 g
21 3 Elo|=812Y lg 5. SE8 £ 20
B a z|z=z|°slegi~|E 83 _SEe E8 v &uwf
o< o . [ o]
it oZ 3| (57|08 = ....mmmmmu ( 284z 89
57 ws o 9lsdE°ls |ellelEEa aus (N 2egdezs
2 = =I5 o ww=< 3 30 N ) 5 89-l8 @¢
® o w QD o a > cm...m_HAN .Pu..LwWa.
ww a i SEx T ) 23<| |88
SX < > ~ m E“SLARC &) C.Aun\mdo
= 0 . ol o | o & - mu 293l dzd =
\ auw - ; g} . < & W
o 5q 3¢ 2 2lellslg=2 €65 3 EEEEEE
2l o | | 2| «|sF|zss B2 FHEEES
9 =)< (s |ag] ol ENJEE FE SEw 533
mm 3 515 |£Clucje 5 zo L *88583¢
L] e Q = 4
o jn o |ic = y
SL O1 0L S39vd NO SIS ATEAISSY .
o0 T ien Adanassy S3004J93ul UMOYS 1D }JUDIDSS BUODIIS 7 WSJ308dS, J0BI) 47 :ILON
X
pounbal SO puILeq (13%0v¥8 NOLLVTIVISNI % xZ) O w@ mooN;
SWIYs poom asn % piomur ysos ‘7S \'l “
— —:
N
”.8
X2
. . . <
J/C St juswpaquia Uiy ‘SMauds =55

I

Supplementary
\rail %Optloncl) rail fOptionol)

T

6lvrH
“ : \N

JJ 61l¥"H

&1

EXT.

WZ/1 L St juswpaquws “uip
‘PUS 4OD?3 1D MIIDS poom
Poay joi & x ZI#¥ xZ

'SMaIds poom | x Ol|F xZ Buisn

i
o
Y
dWDJ) JOOP 2y} 0} pamads " /| | W
S| JUBWIPAQUID ‘Ul ‘M3IOS pPOOM W SePrH
(‘L) papoaiyy o Z2/1L | X ZI# m
x| Buisn awpiy »ong oy 03 pamaids .
0/S0~-S4-40d 19349019 uoyD|DISUY| Q F/E € . z
-— w0 (]
b/t L Sl yuswpaqua ~ & m M H
‘UIN 0/0 'xpw N =
M b
J91% Siulod> wouyy S x
SO SMaids poom \ul/ 5 3
H1 L X 0¥ s T~ =
QO %)
~NZ h 3 (]
S9pIs Yj0q ssojq 2 -
M =
4v8 HSYS ' b
/L L Sl juswpaqua ‘Ui ~E 2
‘'SMa10S poom Z x Zi# buisn 'L LO¥rH <
A9NQ By} 0} :pasn NONq Xz 4i<
‘'SMauos uoddoy z/1 Z X /1 Busn
Aluospw 0} pasn wiys x| 4K
10} 9pyosd wnuiwnp
3y} ybnouyy pamauds Apoauig
(NoOdVL % Xz 10 x) A (iouorido) NMOHS
@ T3INVd G0OM
piomul ysos (sjins
puondo yyum _
fouondo yym) TS . v/ 1
»ong N
aooM 'L'd X,Z 2 8/S
¥O WIHS QOOM /L ¢ st jyuswpaquie ul( .\ANLI ]_J/
SNONNILNOD ‘Ui '0/0 “xpw .
1d X 1 LO1%® sJ1auI00 woly 2/ | S! yuswpaqus uin
YO SMaI0S poom ‘PUS YOD® }D MBUOS poom L8/L -
"4 o x ol Po3Y 0y & X Zif X2 Z
paJinbas SO puijaq 5 - Qc:ozaov :
h 1 t*\ﬂ NJ . M
Swiys poom asn H 4v8 HSYS 'L, 904rH c.wm._
=t e I
, ] : © \y
Iy 1T > S Lo < 3o, &2
SH2 o % S T " 3% . 2o
< X X # £ aE° SS
< ~ N R s =L 1
: N= i N1l z |
RS ,v\mw@ 2 L8805 7, / ovruls 2 &
o | = Bexa 28 > ©
SZ | 2982t L w > =
...\Iu (M\ _ — 10+rH *x3TEE o0 V ~ mnﬁn
2 <+ . .W L T & — ﬁ\N) <3
Rz | o2 |5 : < T N ‘ N
-2 NE £ L~ ) T <+ m
N~ n = HY] E 2 2 id
~= 2 ) 5 % 2 :
o ~ e ) M
| z v E
_ o = L 3
_ *

¥/¢ S! juswpaque c.z

SWDJ} J0Op By} O} Pama.dg
v/l L Sl Juswpaquws -uiy
"SMa1ds uoddoy z2/1L Z x b/
Buisn Asvosow oy} 0} pamalos

Q/S0-S4—40d 3949049 uOHD|DISUY

N\

pauinba. mo/ WIHS Qoo\s
puiyeq sunys  SNONNILNOD

poom asn 1d x i
(13%0v¥8 NOILVTIVISNI % x1)
piDmMUI 4sos Gy 3H

|




FOR WINDOWS UP TO
64 3/4"FW & 69 1/4°FH

FIXED ASTRAGAL

27 sash outward OVERALL WIDTH & FRAME WIDTH JAMB, sash outward
55/8 | (1x & INSTALLATION BRACKET)
(MIN) DAYLIGHT OPENING 3 1/ - ;
—2 9/16"(MIN) 1/8"(MIN) ——— #10 x 3" F.H. wood | / ) ] 1"x P.T.
3/16" screws @4” from 3/16" [ WOOD SHIM
corners & 16" max. o/c.
EXT. . Min. embedment is 1 1/4” E
HJ417 HJ407 HJ407 Installation bracket PDF-FS~05/D
%\ 3 1 screwed to the masonry using
] 1/4" x 2 1/2” Tapcon screws.
Sy Min. embedment is 1 1/4",
<ty R R - _‘ 2 D" \ Screwed to the door frame
B ~ . using 2x #10 x 1" wood screws.
L N 3 Min. embedment is 3/4”".
© 272\ T NI
. " 8 Use wood shims
@/’\___) #10 x 3" F.H. wood \ HJ430 ’ behind as required
" L "L R screws @4” from
5/8 1.7/18™+2 1/8"(MIN) corners & 16" max. o/c.
" | in. is 11/4" - " "
—3 1/8"(MIN) ———— Min. embedment is /4 2 1/8 (MIN) - 2 3/8 | MAX 3/8"
4 1/2"(MIN) } SHIMS
I SPACE
FOR WINDOWS UP TO @JAMB, sash outward
76 3/4° FW & 80 3/4* FH (2x & INSTALLATION BRACKET)
F’XED ASTRAGAL horizonta, horizonta,
; tical "
sh outward or vertical or ver MAX 3/8 )
(MIN) (Optional) W/ wood panel SPACE -
—2 9/16"(MIN) —— 3 1/8"(MIN) (Optional) al
3/16" — ¢ 3" (MIN.) 3" (MIN.) x
;.I_ WOOD PANEL EXT. o
EXT. EXT. SHOWN (optional) |
1 HJ408 [ HJ408
©
. v ):‘@ £
< ™ < O ©
| N ] Sm /7 . S
. " ‘ [ o~ -0 - < <t g™
N Ny o £
G ™ > \D_ 5 €
11 /8" HJ430
5/8” 6" 2 1/8"(M|N) 2)( #12 X 3" ﬂOt head

— 3 1/8"(MIN)

#10 x 3" F.H. wood
screws @4" from
corners & 16" max. o/c.

Min. embedment is 1 1/4”

NOTE: _ &— Clear "Spectrem 2"

wood screw at each end.
Min. embedment is 1 1/2"

Installation bracket PDF-FS~05/D
screwed to the buck frame using 1x

#12 x 1. 1/2" all threaded (a. T)
wood screw. Min. embedment is

1 1/4". Screwed to the door frame

silicone sealant at shown interfaces

using 2x #10 x 1" (a.T.) wood
screws. Min. embedment is 3/4".

@NUMBERS ARE REFERRING TO THE
ASSEMBLY LISTS ON PAGES 10 TO 15

WOOD BUCK

as required

1855 GRIFFIN ROAD,
SUITE A-274
DANIA, FL 33004

9

JS SERIES
WOOD FIXED WINDOWS

MIAMI DADE COUNTY

Orawing no.: MQJS—NOQA?2
Scale: Draown by:
1=2 S. Marcotte
Date drawn: Date revised:
01/10/99 07/11 /00
File: Page:
DJS—-F9808 8 /15
STRUCTURALLY REVIEWED BY:

/ llL' ECO wme. \

TILLIT TESTING & ENGINEERING COMPANY
6595 NW 36™STREET,STE. 217
MIAMI, FLORIDA 33166

'WALTER A. TILLIT JR., P.E.
STRUCTURAL ENGINEER
. FL.LC.NO. 44167

S —

S &/

Va4

APPRQVED AS COMPLYING WITH THE
SOUTH FLORIDA BUILDING CODE
DATE MMC\-\ o |J e\
BYLQ'\‘!'R \. LLUKV\JA
PRODUCT CONTROL DIVISION
BUILDING CODE COMPLIANCE OFFICE
ACCEPTANCENO, QG- 122%' 0%




S L lol.. i
23 ® ol 2lsolf ]y 2 UE
g < <L|.9lal™ a a T w m.s_
E<p o E| o584 8 €25 = £9
T o 2] = oo % WSV MO - Ea8 ¢ Szl
oS« Z e | | c= ~1 w g|Suiw => s Q O =2 w',|
n32 wE 2sl25ls |5 NAlERS cazl g en:
275 w2 o] v|ov|s°|s Ol < AW - X EHEERT
® — = o wws 7 30 N\ s 59= =i
e o Wwilole 1© & fs M -+ AVEN T2 AVISET
n¥ 2= Qm E_.Nu.h.a,“mARC.u h mwobomm
wi O . e ..U&m., 3 aoXl § 2
w -1 co| © SEN | N S mm 3 m 2
5~ S8 2| olB [L=|Z7 & 1 8S %3 L
mmm Q0 2| VS %8 FE Eam ¢ wwus gz
— = [ R¥) —— 3
g Q =]l 9lE . =E ESpE R
mmm = 5l [£°]ud]a 3 Wﬁk <88a&2°2
2 ﬂru N i) iz - N
n_uﬂhowwu%hmmumumhum%«.»m._m%%mMN $90DjJajul UMOYS }D JUD|D3S BUOII|IS «C WBapdadg  up9) <4 _ 310N
X0N8 JOOM
1d X .2 (13%0v¥8 NOILVTIVISNI % XZ) ;
pasnbas spb puiyaq piomno ysos ‘TS
Swiys poom asn %
. ©
"b/€ S| JUBWPAQWD UIN ‘SMBIDS 3 S W
poom (‘1'D) .1 x QI# xz Buisn . <39
SWDJy JOOp By} O} Pamauds 4/ | | & <Tqa
S| JUSWPAQUID Ul 'MBIOS POOM 200
(11'0) PoPORIYY 1D ,Z/L L X Zif T~ = T T,
(N vl % Xz 10 xC x| buisn awbuy xonq ay) 0} pamaios .Rw
00dv1 @ 0/S0—-S4—40d 1940DIq uonD|P}sU| 0SHPH 4
paomino 4sos (sio. #/1 L sl juswpaquwe .m /e c i —
jpuondo yym) TIIS HOOQ . ‘U 3/0 xow I I ‘Th_ _ S
L91% SJBUI0D wouy z . £
F#® smauds poom R ~ L <
H4 £ x o o T/. p 3 > > S
V ~ > &3
S3pIs yyoq ssojY - = 3 > = =
I \ LOVPH | > &
/ _.VM M X
- W -
~ * =
_ 1 &
)

.
"b/1 L St Juswpequa “uipy rJM_L
'SmMauds poom 7 x zi# buisn
HONg By} 0} pasn yong xz 4K &
'sMa10s uododol z/1L Z x /| busn
Aijuosow 03 :pasn wiys x| i< : :

| —~
= z
:0} afiyoud wnujwnp L = )\
ay3 ybnouyy pamasos Apoaug s (10U0ndo) NMOHS
/ !
/ 1INV _AQ0OOM
©ong e
aoom “L'd x,Z S
¥O WIHS QOOM (3 F/E
SNONNILNGD i
i1'd x .l A — JJ.( ,
paunbas spb puiyaq
Swiys poom asf // WZ/1 L S juswpaquia ‘up 80%MPH
— - ‘PUs YoDd 1D MOIDS poom — 8/l \N/
N Jy rmmsraie 2
24 ~ : ~
1 Oy 7 (iouondp) . [v/€ 2 i 3,
5 Wi -
LQ - W. T s 4vg HSVS n,
Ma m 2 i
x? - # -
s - H
= I t ﬁ B mc
wn =S F mnum =
o i X3 e 25 5
<z D5 E . 35 ¢
~N<Z = H» 2 c? o
VARSI /€ 2 T E8EEY g v W
Juswpaquwis - ¥~ ps _ _ =
‘WA 2/0 "xpw [ LObrH (9] z MAM W iy o
91 siauiod woy —— x5 209 <. / LS LOVPH | Z =
$©® SM3IOS poom G © O PG5 xw o 2 > & s —
“« L — C aﬂlﬁd 00 g ~ ) P Fn.nv
H4 . x0ol# - g .9 : 3 _Eg o - 0 o
© £a © ~ SE-§ £ ~ ¥
Z o O JZ o0 o =2 A - .
2R ® SN N A S
Z ~ = ~ L
n - = — 1 ) >
| e s g v o focwrn | T
> % 02 | > i —F—1
S O ~ Na 0
- C o) N o~ = —
s m -w [l:.V\n n N
o o] . ™~ > W = b
© £8 t—.l—t.8/L} o <z 8
SZ 22 <z 30 T o
2 |83 c2 — §
o~ N r\ Jnuwu_wnﬁ\:p m o~
_~ _ — , ——
Z/1 1L S Juewpedue up ™~ /S Imdecun U mﬁ%zﬁ__%w,ov potiod. sumus
‘PUS YOD® }D MIIIS POOM 'SM3JOs poom | x Q¥ xz Busn g X Poom b
poay oy ¢ x ZI# xZ WD) JOOp 8y} O} PamaIdg “
WP/ L st juawpaquwis Cuiy (L3XV g

"SMa10s uoddpl Z/1 Z X b/
Buisn AJUOSOL By 01 poNe e NOILVTIVISNI % xi)

G/S0—-S4—40d 19%0DIq uonD|DISU]  PIDOMING SDS ‘Qv3H

14




SASH INWARD: FRAME

1855 GRIFFIN ROAD,
SUITE A-274
DANIA, FL 33004

.

EUROPE AND
THE AMERICAS

JS SERIES
WOOD FIXED WINDOWS

MIAMI DADE COUNTY

Drawing no.: MQJS—=NOA?2

Scale: Crawn by:
1=1 S. Marcotte

Date drawn: Date revised:
01/10/99 07/11 /00

File: Page:
“us-resio | o 10/15

+ 23/8 —
f r _ SUPPLEMENTARY
— @HEAD & JAMBS; 1 1/16" 41 116" , RAIL (optional)
\ g SAsHouTwarp: » | SASH INWARD OR | @
2 FRAME @ HEAD, OUTWARD o
HJ430 JAMBS & SILL =
— &
. ™ x
S o
| HJ419 8
R o
[s o 2
“ T Sz 3
> * nZ
" >
3
- )
/ <
2 3/4"
[ 3/16" —4—3/4" 7/16 /
';';QL",EN%:,%D - SASH BAR (optional)
(MIN.) SASH INWARD OR
3/16" . OUTWARD
o/16"4 L1 016" [L o T——z 1/16 (MiN.)——T
.
b o HJ408 I
l > <
\_ f -
HJ435 I « lFI -
— %
N
o
<
wn
o

T

3 3/4”

—

— 1 11,16"

—1 3/4”

L 5/8"

STRUCTURALLY REVIEWED BY:

[ Tideco ..\

TILUIT TESTING & ENGINEERING COMPANY
8595 NW 3¢*STREET,STE. 217
MIAML, FLORIDA 33166

'WALTER A. TILLIT JR., P.E|
STRUCTURAL ENGINEER
" FL. LIC.NO. 44167

— A4

APPROVED AS COMPLYING WITH THE
SOUTH FLORIDA BUILDING CODE
DATE__M#ArcH o)) Loo\
BY_lgbaq |.Clsuda
PRODUCT CONTROL DIVISION
BUILDING CODE COMPLIANCE OFFICE
ACCEPTANCE NO. A9~ \22§:0%




7/1 6»

31/8"

2 116"

4

2 3/4"

——1 1/16" —4

t————1 11/16"

=

HJ411

»—5/8"__‘

ol

1 11/16" —4—3/4" |

Y

SASH PROFILE,
(INWARD)
INACTIVE SASH:
@ Astragal Stile.

3/8" 3/8"

31/8"

r 115/18"

7/16"

2 3/4"

3/4"

3/16"

13/16”

1n

--—13/16"J

HJ401

g

11/16" —4

1/16”

—
—

21/2"

5/8" —

WOOD PROFILES

SASH PROFILE,
(INWARD)

1855 GRIFFIN ROAD,
SUITE A-274
DANIA, FL 33004

"o,

OF ELROPE AND
THE AMERICAS

JS SERIES
WOOD FIXED WINDOWS

MIAMI DADE COUNTY

Drawing no.: MQJUS—NQA?2

Scale:
1=1

Drawn by:
S. Marcotte

Date revised:
07/11/00
File:

Date drawn:
01/10/99

P :
bus—Fogt1 | o 11/15

7/16"

2 3/4"

—1 1/16"—4

+—1 11/16"

34|

L-3/4"—l———1 1/4"

—5/8" 21/2"

SASH PROFILE,
(OUTWARD)
INACTIVE SASH:
@ Astragale Stile.

2 3/4"

3/8"

11/16" —

1 11/16"

3/8"

1.3/4"

‘—5/8”-—-1

SASH PROFILE,
(OUTWARD)

STRUCTURALLY REVIEWED BY:

/ TilECO we \

RING COMPANY
T AW SRSTREET STE. 217
. MIAMI, FLORIDA 33166 ,
WALTER A. TILLIT JR., P.E.
STRUCTURAL ENGINEER
. FL.LIC.NO. 44167

/S
-

APPROVED AS COMPLYING WITH THE
SOUTH FLORIDA BUILDING CODE
OATE_MAROY o\ 200 |
gy_lekag . LUavda
ERODUCT CONTROL DIVISION
BUILDING CODE COMPLIANCE OFFICE

ACCEPTANGE N0 4 G- l'z_zg‘- 3




—1 Ly 1953 SR 0n0
2 7T130 ¢, FT 1/16" —— glass- . DANIA, FL 33004
7 — s 716" : N bite
y — / 3 2 7 | Q9 ®
17/16 A —T.g SASH WATER DRIP > O OF EUROPE AN
ASTRAGAL © N . Z
2J142 \ouLDinG N _— L | a JS SERIES
. L 2 ey tape ‘ — R WOOD FIXED WINDOWS
(9 cJ064 - 5 | 5| = MIAMI DADE COUNTY
h, . n
GLAZING BEAD N 19/16" —y © | ? Tl a
/2 L | ; 8 Drawing no.: MQJUS—NOA2
) LT 7 T2 s
r © Scale: Drawn by:
. S . S — 1=1 S. Marcotte
© ~ : i - . : )
- | 0 WOOd hi @ AH2 31/8" —— Date drawn: Date revised:
< > AN PT001 / 01/10/99 07/11/00
- 222> L2077 File: Page:
i T 1 ‘@ f RAISED WOOD PANEL Dus—rFosiz | o 12/15
‘ g ALUMINUM FLAT SILL
, : " STRUCTURALLY REVIEWED BY:
+—5/8"4 X + 5 ﬁJ
BILL OF MATERIALS (see also related cross sections details)
t LOCATION STE.
REF. QTY Componen DESCRIPTION MATERIAL DIMENSIONS MEAN OF ATTACHMENT i MIAMY, FLORIDA 33168
2 per Astragal | ZJ142 astragal wood Mahogany| 3/8"(d) x |18 gauge, 5/8" galvanized | SASH INWARD: One nailed on the interior face of WALTER A. TILLIT JR., P.E.
astragal | moulding | cover.  Square cut at 1 7/16"(w) x | finishing nails spaced 16" the active sash & one nailed on the exterior face STRUCTURAL ENGINEER
meeting the ends. sash height | o /c. of the passive sash. . FL.LIC.NO. 44167
SASH OUTWARD: One nailed on the interior face of
the passive sash & one nailed on the exterior face ‘9&'___1/3@,_@
of the active sash. q//q/g;/
/ [4
@ 1 per Glazing GJO64 wood profile, Mahogany| 1 1/16"(d) x { 18 gauge, 1" finishing @ the perimeter'of the glass or wood pcngl; Nailed
glass edge | bead mitre cut at corners. 5/8"(w) nails spaced 2” from the through the glazing bead to the sash profile.
corners and 10" o/c SEE ALSO "GLAZING METHOD”, SHEET 14/15
170} | per door |Flat AH5 aluminum profile Alu. alloy | 1/4"(h)x 5"(d)} #12 x 2" F.H. screw Door frame sill. Screws spacing is 5 1/2" from
sill saddle 6063-T5 x 1/8"(t) corners & 14" o/c. Square cut @ ends.
! per door |Stopper | AA2 aluminum profile Alu. alloy 3/8°(h) x | 2x #12 x 2" flat head Door frame sill.  Screws spacing is 14" o/c. Butt
sill 6063~T5 1 9/16"(d) | screws joint against the frame jambs @ both ends.
x 1/8"
") | per_door |Shim Continuous wood shim |Mahogany 7/8"(d) x | See AA2 screw. Door frame sill. Screws spacing is 14" o/c. Butt
c sill 11/16"(h) joint against the frame jambs @ both ends.
@ One Wood Raised wood panel: Mahogany! 1" wider & | Dow Corning 995 structural | Where indicated as WP (WOOD PANEL) on elevations
panel 5/87(t) @ flanges, higher than | silicone at the perimeter; .
1 3/4"(t) @ center. glass opening. ‘ APPROVED AS COMPLYING WITH THE
. . . ILDING CODE
1 per sash, | Sash ZT130 Wood moulding. |{Mahogany 7/16"(d) x |18 gauge, 1" finishing SASH INWARD ONLY: Nailed against the exterior face m”“;f‘f;”&”éﬁ?wa\
open in water Square cut at the ends 11/16"(w) | nails spaced 2" from the of the bottom rail of the operable sashes; a double DATE \. ¢ Landea
drip corners and 10" o/c face adhesive tape is used in between. B \Cues \.

@ REF. NUMBERS

ARE RELATED TO THOSE USED ON CROSS SECTIONS DRAWINGS

—G= Clear "Spectrem 2" silicone scellant at shown interfaces

PRODUCT CONTROL DVISION
BUILDING CODE COMPLIANCE OFFICE
ACCEFTANCENO_T1-122% 0%




1855 GRIFFIN ROAD,
SUITE A-274
DANIA, FL 33004

9

JS SERIES
WOOD FIXED WINDOWS

MIAMI DADE COUNTY

Drawing no.: MQUS—NOA?2

Scale: Drawn by:
1=1 S. Marcotte
Date drawn: Date revised:
01/10/99 07/11/00
Fite: Page:
DJS—-F9813 1‘3/1 S
STRUCTURALLY REVIEWED BY:

[ Tidecow\

TILLIT TESTING & ENGINEERING COMPANY
8595 NW 36*STREET STE. 217
MIAMI, FLORIDA 33166

WALTER A. TILLIT JR., P.E.
STRUCTURAL ENGINEER
. FL.LIC.NO. 44167

AL

—T 11 Gcge'187 A [——1.181
K — " (.120") '
g »——15/161"1? - 2" + TP 8
i v T .303" T
1 T T ] || ©.221” -
QI 4 0 ©22 g O
L—L3/16" M N\ L1 19 g 001 NG 7]
|4 A7 |8
L5150 N (&) AI1050 © Q
= A% Q
MIDDLE GASKET - GALVANIZED <
STEEL FLAT BAR i 4 T
5/16" AIS| 1020, COLD DRAWN, -
' YIELD POINT 47,000 psi " 4 :
T NOTE: WEEPHOLES / 352, 2
: _3/4" For windo : @
Q © 4 .,3/4 O/”C, t077'31/16“',sF33 ﬂ ©.315" -
iy 5/32"(W) x 1” (L) $
& 111 3/4"FH 1 .
(3) aws2s50 FS15S I’ /Q~
GASKET ALUMINUM RAINGUARD ‘f ; ®.25"
4
348" ———}
PDF-FS-05/D (revised 07/11/00)
INSTALLATION BRACKET
Gage 11 ASTM A653 SQ 33
G90 galvanized steel
BILL OF MATERIALS (see also related cross sections details)
REF, QTY Component DESCRIPTION MATERIAL DIMENSIONS MEAN OF ATTACHMENT LOCATION
LF depends |Middie Briigman L5150, EPDM 3/16"(d) x |Push—in gasket, in a Perimeter of the active & fixed sashes; Head,
@ on sash |gasket Push—in middle gasket; 3/4"(h) continuous groove around | bottom & hinged stile of inactive sash.
perimeter mitre cut @ corners . ' the sash.
LF depends | Gasket Schlegel QWS250 foam Polyure— 5/_]6"(d§‘x Push—in gasket, in o Perimeter of the active & fixed sashes: Head,
@ on sash gasket, mitre cut @ thane 1/2"(h) 4 continuous groove around | bottom & hinged stile of inactive sash.
perimeter corners, foam # |the sash. :
® 2 per Reinfor— | AI1050, Galvanized Steel 3/8"(t) x 1/4” x 1" steel bolt, @ @ stiles of an astragal meeting (inactive or active
astragal Jcement | Steel AISI 1020, Cold 2"(d) 9" from the bottom of sash), for frame width (FW) greater than 64 3/4”
drawn the steel and @ 14" o/c. | or frame height (FH) greater than 69 1/4”. Steel
lenght is 12" less than the sash height.
cor—rs_os/o I e ames 2 70 x /
Installation bracket " : - Around the frame perimeter, @ 5 1/2” from
Depends on} Instal- Galv. Steell 1.181"(w) x mbedment is 3/4 . »
) . Gage 11 ASTM A653 ” € corners; Max. distance on center (o/c): 11
frame perim. lation SQ 33 3.125%(h) x |74 structure: See instal— (
G90 galvanized steel 119(t) lation notes pages 1-5
1 per Rainguard| FS15S profile, weep Aluminum 1.1/2"(h) x |#8 x 3/4” round head At the top of the frame sill no. HJ435; INSIDE
wood sjll, holes @ 4-3/4" o/c, alloy 1 3/8"(d) x |wood screws, spaced OPENING ONLY. Butt joint against the frame jombs
open in 5/32"(W) x 1" (L) 6063—-T5 3/32°(t) 9 1/4" o/c. at both ends.

/

@ REF. NUMBERS ARE RELATED TO THOSE USED ON CROSS SECTIONS DRAWINGS

APPRQVED AS QOMPLYING WITH THE
SOUTH FLORIDA BUILDING CGDE
pate MAe o\, 1oo!
Bv_\ghaa | Chauds
PRODUCT CONTROL DMISION
BUILDING CODE GOMPLIANCE OFFICE
ACCEPTANCEND. @4-12 L&_~ o3




GLAZING METHOD (inside glazed)

1855 GRIFFIN ROAD,
SUITE A-274
DANIA, FL 33004

¢

JS SERIES
WOOD FIXED WINDOWS

MIAMI DADE COUNTY

Orawing no.: MQUS—NOA?2

—5/8"— —5/8"
1/2" GLASS BITE . 1/2" PANEL BITE
EXTERIOR | EXTERIOR |
SASH GLASS 7 SASH GLASS T
REBATE 2 REBATE et
S <
1d T T o
> >
G T < 0
™~ . :N o~ M 2 ap
S i
By N
9]
~J * A e |
~, < o
> 5 <
J | J
laminated glass glazing wood pane! glazing
TABLE 2
BILL OF MATERIALS GLASS TYPES FOR FRAME DIMENSIONS OF TABLE 1
R FOR BASIC RECTANGLES GIVEN ON SH :
REF. Component DESCRIPTION MEAN OF ATTACHMENT LOCATION OR FOR BASIC RECTANGLES GIVEN ON SHEETS 2

impact Glass, see
components 1a,1b,1¢

15/32" (t) Laminated glass
(3/8” [10mm] designation)

See components 1d, and 15

As indicated on elevations drawings
by the ZZ symbol.

Gio

Exterior glass sheet

3/16" (t) (5mm) as following:
>Type 1: Annealed glass for
d.l.o. dimensions on table 3
>Type 2: Heat strengthened
glass for d.l.o. dimensions
exceeding those into table 3

See components 1b: PVB
interiayer

Exterior side

SAFLEX ili G
interlayer

Solutia 0.090" (t) PVB plastic
film, per current approval

2 sides adhesive film

Between the interior and the
exterior sheets of glass

3, 4 AND 5 OF THIS DRAWING
if, for a given long member d.l.o., the actual short
member daylight opening exceeds the maximum

dimension indicated on table 2, then
TYPE 2 heat strenghtened laminated glass
[3/16" HS - .090" PVB - 3/18" HS]
OR TYPE 3 full tempered laminated glass
(3/16" FT - .090" PVB - 3/16" FT]

MUST BE USED

Scale: Drawn by:
1=1 S. Marcotte
Date drawn: Date revised:
01/10/99 07/11 /00
File: Page:
DJS-F9814 14/15
STRUCTURALLY REVIEWED BY:

TILLIT TESTING & ENGINEERING COMPANY
6595 NW 36" STREET,STE. 217
. A, FLORIDA 33168

WALTER A. TILLIT JR., P.E.
STRUCTURAL ENGINEER
.  FL.LIC.NO. 44167

Interior glass sheet

3/16” (t) (5mm) heat
strengthened glass

See components 1b:
PVB interlayer

Interior side (glazing bead side)

Maximum daylight opening for type 1 laminated glass
[3/16® AN - .090" PVB - 3/16" HS]

Ol[6)O)

Structural silicone

Dow Corning 995 black silicone

1/87(t) x 1/2"(w) bonding
extrusion

Continuous extrusion between the
wood back fence & the exterior
sheet edge of the laminated glass
or wood panel.

@ the perimeter of the glass.

Max. d.l.o. area up to 7.81 sqf

@ Glazing bead GJO64 wood profile 18 gauge, 1" finishing nails
(5/87(t) x 1 1/16"(d) spaced 2" from the corners
and 10" o/c
Wood panel Mahogany, raised: 5/8"(t) @ See components 1d, and 15
flanges, 1 3/4"(t) @ center;

’\///W/J/’ /

As indicated on elevation drawings.

= Clear "Spectrem 2" silicone sealant at shown interfaces

@ REF. NUMBERS ~ARE RELATED TO THOSE USED ON CROSS SECTIONS DRAWINGS

Given Long | Max. short Given Long | Max. short
member d.l.o. | member member d.l.o. | member
upto(in.) | d.lo.(in) upto(in) | d..o.(in.)
47 1/4 47.244 90 1/2 28.150
51 41.339 94 1/2 27.953
55 38.386 98 1/2 27.559
59 36220 102 1/4 27.362
63 34.055 106 1/4 26.969
66 32480 110 1/4 26.772
70 3/4 31.496 114 26.575
74 3/4 30.512 118 26.378
78 3/4 29.528 122 26.220
8212 28937 126 26.102
86 1/2 28.543 130 25,984

APPROVED AS COMPLYING WITH THE
SOUTH FLORIDA BUILDING CODE
DATE_Mem ctt o1, 200
BY_\euwaq | (Wamd«
PRODUCT CONTROL DMISION
BUILDING CODE COMPLIANCE OFFICE
ACCEPTANCENO. T~ 22803




TYPE OF GLUE:
RESIBOIS 222 no 30222~01 TYPE 1
EXTERIOR GLUE FOR WOOD

CORNER
ASSEMBLY
(MULTI-FORK)

FRAME JAMB "

ALUMINUM FLAT
SILL ASSEMBLY

#12 x 2" WOOD SCREWS | I
Embedment is 1 3/4” \

1855 GRIFFIN ROAD,
SUITE A-274
DANIA, FL 33004

Orawing no.: MQJS—NOA?

Scale:
none

Drawn by:
S. Marcotte

SASH BAR

| Date drawn:
i  01/10/99

Date revised:
07,/11,/00

SASH FRAME

‘ File:
—F9815

STRUCTURALLY REVIEWED BY:

L horizontal
or vertical

/[ TWIECO e\

RING COMPANY
‘ MAMI, FLORIDA 33166
WALTER A. TILLIT JR, P.E.
| STRUCTURAL ENGINEER

SASH BAR
ASSEMBLY

2x #12 x 3" WOOD
SCREWS AT EACH END

MIN. EMBEDMENT IS-1 1/2”

| _FL.LIC.NO. 44167

APPRQVED AS COMPLYING WITH THE
SOUTH FLORIDA BUILDING CODE
DATE _MAn iy o\ 200 )

8Y_\QUaa |. Clian da

PRODUCT CONTROL DIVISION
BUILDING CODE COMPUANCE OFFICE
ACCEPTANCENO_ R4~ \228.073






